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l Wthh one of the followmg is - 5. ‘“‘None but true Yogis are qualified

rect truth- functlonal“*symbnh- v .7 for .the  highest ~ mystical
on of the -sentence, ‘UnIess ) ~ experiences and only true Yogis-are

oy

c is difficult Seema w1ll pass if "L ... saints. Therefore, only saints are

~ she concentrates’’? (P : logic is ™ qualified for the highest mystical

V.

difficult; Q : Seema will pass, R: ‘ experiences.”’
Seema concentrates) % w0 . What fallacy is committed in the
(a) PD(RDQ) . R above syllogism?

(b) ~P>(QDR) ®° - = (a) Existential fallacy

{c) ~PV(R DQ)
(d} P v(R DQ)

(b) Fallacy of illicit major
(c) Fallacy of illicit minor -
(d) Fallacy of  undistributed

2. Wh1ch one of the follawmg s m:ddle
deduccd from G 2 6. The nature. of ‘a statemcm of fact
("'p q) [(r S)DP] r " i ~ and a statement of value is such
£ o _that.
a ‘ b) gD '
K ) 9 ( ) q-r ; {a) both can take truth values
(C) S (d) f DS L L ;(b) both. a:e ahout attltude
3 Wthh one of the fonownlg ‘ (C} both State the facts
 =Argumentsfog-the existence of God (d) the former states ‘the fact and
.is mot accepted by St. Aquinas? o . the Tatter mdicates the attltude

Th tﬁmmn ‘- e
- ({a) The argumen 0 otion 7. For Spmoza

(b) The ' gu ment from the 7 (a) the world-is & creation’of the

 governance of the world ‘ . absolute sub&tancq God and is
( C) The argufent from' the therefore ontologxcally distinct
gradation found-in the things from God

(d) The ontologlfal mggglgnt S (b) the world is 1ot ontaloglcally
‘“ e : *distinct from God, because the
Consciousness is not an essential

world is God-itself -
charactenstlc of the Soni ”” Whose" S ‘wor is Giod'stsel
" view is'this? . {c) the world is a creation of God

in the sense of being an

- {a) .Carvakas. - L e expression ‘of God’s will to
{b) Nyaya- valéesﬁca R . . haveaworld

. ' (d) the world is the expression of
(C}‘. Samkhya:yoga R . God’s desire . for - natural
(d) Jainism = ' ~ splendour

/17-B . - 2
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8. Match List—% (Criterion) - with
List—II - (System) and select the
correct answer using the code given -

* below ‘the Llsts ’

9. Match List—I (Phxlosopher) with
List—II (View) and select the
_correct answer using the code given -
~ below the Lists :

pre—re——— L o

T

_ o List—I  List—II
CL{st—_—I ?.Sf*ﬂ (Philosopher) (View) .-
( menon) g (Sy: ;tgm) A.<Leibniz= 1. The soul, evolving
A. Truthisthat 1. Idealism - o ortases the hreye
Wh;f:h conforms state of the universe
to fact & according to the
B. Truth is . Pragmatism }r)e(:)lg:gntg fn?g:fn
:g?;:te;i};r o | B. Berkeley 2. Neither secondary
g. 11 . " qualities nor primary
accepted 1deas, qualities exist inde-
.thm:gskand " , ~pendently of mlnd
judgements - ) C. Descartes 3. Human being is a kind
. Dok S ‘ .+ of union of two
C. _Anythmg which . Realism ‘ distinct things : the
is. cl‘car and B ‘ mind and the body,
distinct must be the body being a part
held ‘as true of mechanical nature,
S o “the mind being a pure
D. Truth is that . Cartesianism o ['thmkmg substance
‘which works | D. Spinoza 4. Mind and body are
o identical because
L thought and extension
Code : - are'two attributes
. under which the one
| , ~ substance is conceived
{agA B C D Code : |
4 2 3 1 -
a A B C D
k) A B C D 3 1 2 4
3 1 4 2 () A° B ‘C. D
1 2. .3 4
(cc A .B C D- '
4 1 3 2 c) A~ B C D
‘ 3 2 4 1
(d A B C D (d A, B C D
3 2 4 1 1 3 4 2

/17-B
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() ()
A TETmERNTE 1. VR
FIgEIRA R
B. @ 3 @iga 2. rdifhumEmg
o, agait :
ol okt &
gewamy
C. g 3. wgEm
foran s =Ry ‘
D..waz%ﬁi@ 4., IFdARE
- wRmAmd |
@A B C D
-4 2 3 1 ; iztg
mA B C D B D
3 1 4 2 | | |
| ) A B C D
) A B C D 1 2.8 4
4 1 3 2 ) A B C D
L 3 2 4 1
(@) A B € D. @A B.C.DP
. 3 2 .4 1 1 3 4
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10.

Given below iscwhat purports to
be a formal proof of validity for a -
‘particular argument :

1. (E-F)-G
(F.G’,):)HVAI.'.A\_{Wﬁ.
E-(F-G) R
F-G

HVA

AVH -

o Lp W N

- At which step does the proof go

wrong?

- (a) Step 3

11.

(b) Step 4 .
(c) Step5 .
(d) Step 6, |

vMatch List—I . (Rule) with LlSt——HA

(Eqmvalence _expression) = and

select the correct answer using the

© code given below the Lists :

List—II

List—l , ;
(Rule) - (Equivalence
o " expression)

A. De Morgan’s I;A[pD(qu)]

theorems

=[(p-q}>r]

B. Distribution - 2. (pDq) -

=(~-gD~p)

C. Exportation 3. ~(p vg)

=tp-q

'D. Transposition 4. [p-(gV )]

=[(p :q) Vv(p-r)]

/178

LS

+ Code':
@ A B C D
1 4 3 2
() A B C D.
34 1 2
c) A B C D
1 2 3 4
d A B C D
3 4 2 1

12. Which one of the following is not

acceptable to G. E. Moore? -

(a) Goodness is a;natin:al quality

(b) Goodness is an unanalyzable
s1mple quahty

{c) A good is a complex thmg

(d) Goodness cannot b,e ‘appre-
‘hended through senses

13. Which one of the following is .

maintained by the emotivists?

(a) There are moral facts but they
are neither true nor false

(b) There are no moral facts that
are either true or false

‘(c) There are moral facts and they .

are either true or false

(d) Moral
essentially  descriptive  of
emotive attitudes

judgements are |

A S T ORI it el
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10. ﬁwﬁgﬁﬁﬁm%mmm R XY . ST
waﬁmmﬁ%ﬁmw% R S '
1. E&-F).G ‘(@@ A B . C |D
L E-F). ‘ 1 4 3 |2
2. (F-GDHVA|.AVH ~ R
3. E-(F-G) | : ®m A B C D
4, F-.G’ | 3 4 1 |2
5. HVA © A B ¢ |D
6. AvH | | . 1 2 3 |4
(a) =T 3 - 3 4 2
(b) =T 4 , .o :
() F@M5 . - 12. Fefafl & @ F-a1|g@ e §o 1
() T 6 o RNehwd e |

o - o (a)aﬂa‘@sr@ﬁa"f‘f‘gh% |

1L g (Fm) R g (g oy ‘ ot
o) % e PR AR o S e e

/W%:ﬁ%ﬁqmwmmw o) R

RLES LS ' () o H e gy oo
‘!!:rﬁ_] et ..'{ﬁﬁ_n' | | .
Fam) (e B e, B 8 e (o
A Rifrsi 1 [pogan 0 AW o
‘ o =lp-q>7] (a)i‘rhaaawth%%%@wa‘réw
B.9 2 (pog L Wb

(Rfe=gm) - =(-a>~p L p) AR FEmE R

' ‘ W E 8 I
C.falm1 3. ~(pvg |
(wraareem) =(-p-~9q (c) a’mmsﬁ%aﬁzamﬁm
o | W
D. s 4. [p-gv7] L
req s . =[(p-g)v(p N - (d) A ok arﬁam Ham-gie
(;Taﬁ'sﬁﬂ'«r) - (p CJ) (p-7)] Waﬂhmﬁé ,,

/17-B ‘ | ‘ 7 [P.T.0.




14.

“The living bodies posseéss souls
because they " possess functions

such as breathing.”” Nyaya-

‘vaiSesikas ‘classify this inference

as which one of the following? .
(a) Ase?dhérapa Anaikéntika
(b) Kevalanvayl C

(c) Kevalavyatireki

 {d) Anvayavyatireki

18

" (b) Atomism, Spmtuahsm and .

" 16.

Which of the followifig are
advocated by Nyaya?

(a) Atomism and Spiritualism only

Theism

(c) Atomism, Theism @nd Realism
only

(d) Afomism, Theism, Realism

and Pluralism

‘Which ‘one’ of the ‘following

- statements is not correct according

(b) The universal

/17-B

to Plato? "

{a) The umversal res1des in the
eternal and transcendent world
of ideas

particulars
(c) The universal is a concrete
individual
(d) The universal is non-spatial
and non-temporal

is’ prior to

17,

18.

19,

‘Which one of the following is not a
 tautology?

(a) ~(p-q)=(~p-~q)

(b) ~pD(pDq)

(c) ipDg)DplDp

(d) pOlgop)

Which one of the followmg is not
Samanya?

(a) Ménhoqd (Manusyatva)

(b) Cowness (Gotva) |

(c) - Skyness (Akééaiva) _

(d) Jarness (Ghatatva)

~

the U?ollowing
involves the

Which - one of
sylogistic forms

- fallacy of undistributed middle?

(a) AAA in third figure
4

(b) AAA in second figure

(c) IEQ in first figure

(d) IAA in third figure
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v w & fiora e €7

(@) STETERO AAHI=<H

(b) FaET

15. =M@

(c) mwﬁ%ﬁ '
(d) IFaa-saferht

o e 87
(¢) A THVER N AAERE

,(b)Wﬁ mmaﬂtiaam

| (c) Fa@ wENER, $EEr R |

16.

(d) WER,  fEER, SRER S
igaaaﬁ

A ¥ srgen Pefiea § & SF-a
T A T A 7

(a) |, e v e fer
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(b) s, et @ @ R
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@-~pad=t-p-q -

@) poa>p)
18.

) M=

19,
'ﬁm%gdw%?

’(a}Q?ﬁZNﬂf}ﬁﬁAAA a
| _(b)fia‘!aaﬂ%ﬁﬁw

" (e) WUM mﬁmo :

) ~p>3(p>g

(@ [(po@>plop |

_ﬁmﬁrftqa % Q aﬂq-im T Hmm
, Aqﬁg?

(c) Wv

(d) e

s = vt [ ¥ B

(d) T Al # 1AA
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20 Al Raymops shares-'.cah be  23.-The writer of Language, Truthand
transacted. Nothing thatiiean be Logic is
transacted will involve risk. Hence, : (8) R.B.P |
~nothing that will involve risk are taJ R. B. rerry

*Raymops shares.” W (b) N A).'Ae‘r""' o

Which one of th:; following Venn

diagrams represents the above fc) C. L. Stevgn;on

argument? (d) 1. A. Richards

S P| S P | |

% @ S 24. Match List—I (Name of the '
/ 4| Philosophers) with List—II (The

~ theory regarding relation between
mind and body) and select the
, g . correct answer using the code given -
21. The correct symbolization of the below the Lists : '
 statement ‘‘Both Saurav and Dravid

LISt»—-I S - List—IT
:::;c‘;tbefacer }the spin- bqwlers (Name of the (The theory
L Phxiosophers} regarding relation {
’(a) ~svD . , ‘ between mind
| o [ andbody)
() ~(s-D) T A. Descartes 1. Parallelism
(c) (~S-~D) SV B. Spinoza 2. \gre-gstabhshed
v . _ armony
(d) ~S-D > ' - C Lexbmz - .3. Interactionism
. by "'i“{@%' graiat 3??‘} < o COdC | . h
22. Which one of the fénowmg is the | | | .
law of exportatxon? . @A B C
‘(a) [pV(q-r)]E‘[(pvq)-(p\'/r)] ) A B C
(b) [(p-q)Dr1=[p>D(g>Dr1)] '
, : , () A B C
(c) [pvigvri=ipvyg)vr] 3z
| - (d A B C
(d) [p-(g-D)=lp-qkr]. 1 3 2

/17B : | 10



20. wm P & T P wRe 23. Language, Tm&ﬂndlbgiéﬁiﬂ
P W wE %1 Py ww @ o owest
e fn < T & 4 S LT
?ﬁ%lmﬁmﬁa‘rﬁgw%asm (@ SRR
CIRAAR ) T Yo TR

mgmgﬁmaqmmmm oo et |
GREL LR ST (6] o o T

() 3150 To Ferd

a:ﬁ-l (zwfﬁ% £ =mcr) R g1
(- Wy Ry () % @
gafer iRt 3k gl & 4= Ry
AR IR

21. “dhor si Ze A o e A

L Y e R g wRn

(a) ~Sv’D’f TS o frgr)
®-s0) . A ¥ L
| SD SR B. R 2. -t aneE

' @ ( ) C. @& 3. RibRER
22, e ﬁ ¥ aﬁq—m R ﬁvﬁa:r ©(a) A
'ﬁm%? o ~ 3

—=
oA

- )

- >
N w
w0

(@) [pvia H=l(p va-(p vill
) lp:g2r]=(pag>0] R

w >
N
=0

© [pvigvnl=lpvavr]

. o @
(d) (-l Ml=lipogir)

-
w W
N O

- /17-B ' 11 , | - [P.T.O.




D. Spinoza - 4.

25, Match List—! (Thinker8) with
List—II (View) and select the
correct answer using the code given
below the Lists : -

List—I , Lzst—-II
(Thinkers) (View)

A. Plato 1. Godisone -

' substance and has

infinite attributes

v B Aristotle 2. Substance is an

B R eternal archetype '

C. Descartes 3. Substance i8rthe

~ compound.of .
universal and
~ particular

God:is an abselite
=~ substance; mind and
matter are relative

substances
Code :
(a A° B C D
3 1 2 4
(b) A B C D
2 3 1 4
(cc A B C D
‘ 3 2 1 4
(d)

N 3>
w W
0
- O

J17-B
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26.

e
iy

COnmdcr the followmg argument :

. No P is M.
Somc M are S.
. Some S are not P
The correct testmg by Venn

. diagram of the above argument has

been. done m

Invalid = Valid = .Valid Invalid
(a)  (b) c) (d)
27. For Leibniz, monad. is windowless

28.

- 2. Since -

because

~(a) it is. absolutely - free from

external influence
(b_) it is extended
(c) it is a composite body

(d) it is something material

Consider the following sentences :
1. Iftoday is Saturday, tomorrow
will be Sunday.

today is Saturday,
tomorrow will be Sunday

Which of the following is correct?

(a) -1 is an argument and 2 is not

an argument

(b) 1isnot an argument but 2 is an
‘argument

(c) Both'l and 2 -afc arguments

(d) Neither 1 nor-2 is an argument




25, 1 () TR 26. Pl g @ R AR
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A= Limmwmtadss | Yy ,;:;//,/
D s d ’. SN Al
B. 3, =~ 2. 74 U WREd R 3 Wy Ay dm|  adw |
cwwd 3w wmEwhww 0 9@
| Ll 27. m@ﬁ%mmﬁgﬁw@#m
D w4 fw T P d fomfea 8, =% 1
, ‘ W 3 SRR wde T & (a)w%w’fm%wwﬂs?aﬁ%
' (b) T RRRE
e () aswmzﬂw%
| (d)agsaﬁaa% o
@ A B C. D R QSfIﬁGWWWMW: |
1 2 4 1. % ean gm ARk mvﬁan%l
2. % TqER &m FifF o9 qHER
i J .
(b) B C D .
o @1 TR w g
R N T
B C D
9. 5 1 4 M) 1, @gﬁﬁa’a‘f%mz,@
It |
L (c) 1aﬁtza=ﬁgﬁ5%
@sr B S0 (d) 1 st 2 21 o &
/17-B 13 [P.T.O.




- 29.

Consider  the

proposmons R
Some pohtfcxéns are doctors.
Some . politicians are not
doctors

followm!g two

Which one of the followwg Venn

dlagrams correctly repreﬁents the

' “above two propositions?

- 30.. JnJama ethics, Brahma.carya means

" the sacrifice of
(a) sensual des1res

B ’;(b) eg01st1c desires

31.

(c) mental desires
(d) all desires

Who among the following is

regarded as the father of Modern’
Western Phxlosophy?

. "’(a) heheeie ‘
(b) Soc Iates"

32.

17

(c) Descartes

‘ ((f) Splnoza

Which of the fol]owmg is'not a law -

of thought?
(a) The law of the 1dentxty

(b) The law of - ne&gtlon
(c) The law of con}‘t‘ir'adiction‘
(d) The law of excluded middle

14

’33

L?Iniversals are - different from
particulars because thcy do not
occupy - ‘

(a) space and time
(b) form and matter

(c) substance

| (d) ausibute |

34.

Plato was a supporter of Reahsm

 regarding-the nature of

o _(a) sense-data

~ (b) physicat object

3s.

(c) sensation

{d) universal |

How many sourges of knowledge
have  been  accepted by

~ Sankaracarya?

36.

(a) Two
(b) Three -
(c) Four '
(d) Six

Which of the following theories of

error has been propounded by
Prabhakara?

v(a} Anyathﬁkhyétivida '
(b) Akhyitivida

(c) Yiparit'Khyativﬁda
(d) Satkhyativada

T2 T e e




20, Pefofer A sRwhel w Rew 33, wwra Pt @ P A 8, iR 3
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31. fafafe 33 B anygfie T e a
i =1 e wrn S 27 | v(a)
(a)"ﬁ@f | . (b) 9
(b) gHT | . @
(c) <= S dE
() T@RsN | o o
- 36, ffufas w1 Rt § @ e
i ¥7 | |
n) ARSI
(a) e Fram ; (a) ». s
(b) ¥y Frm (b) ST
(c) =amama Fram (c) Toode wnfoar
(d) worm Plw fam : (@) wqemfEE
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37..

38.

. has been accepted by Spinoza

39.

40,

/17

““The truth of an idea is determmed
by practical consequences >’ Which
of the following theories of truth
accepts it?

(a) Correspondence theory
(b) Coherence theory

(c) Pragmatic theory

(d} None of the above

Which of the following theories

regarding the relation between
mind and body?

(a) Parallelism

(b) Interaetionism

(c) Pre-established harmony
(d) Norme of the above

If the major term is distributed in
the conclusion, but it is "undistri-

_buted in the major premise, the

argument is invalid. ThlS fallacy is
called

(a) the fallacy of undistributed
middle

(b) the fallacy of illicit minor
(c) the fallacy of illicitmajor
(d) the fallacy of four terms

If both terms of a proposmon are

distributed, the proposition must
be

(a) ‘A’ proposition

(b) ‘E’ proposition
(c) ‘T’ proposition -
(d) ‘O’.proposition |
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41.

42.

43.

Which of the following. statement
forms is contradictory?

(a) pvg.

(b) ~pv-p
© p2q
@ p-p .

‘Greatest. good of the greatest
number’ is a slogan of

(a) Utiliterianism
(b) Intuitionism

(c) Perfectionism [

- (d) Egoistic hedonism

With which of the following names
is the theory of ancient atomism
generally associated?

(a) Pythagoras
(b) Heraclitus
(c) Democritus

(d) Anaxagoras

44. Philosophy and Science are.

(a) opposed to each other
(b) complementaity to each other
(c) notrelated to each other at all

{(d) None of the. above

e

s e

e e
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40.
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45,

46.

47.

48.
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Aristotle’s ontology is called

(a) Materialistic

~ (b) Idealistic

(c) Dualistic

(d) None of the abqye’

Which of the following theories

holds that real knowledge is
universal, necessary and new?

(a) Rationalism
(b) Empiricism
(c) Criticism

(d) Idealism

Which of the following theories of
truth  holds that truth s
changeable? ‘

(a) Correspondence theory

.(b) Coherence theory

(c) Pragmatic theo'ry_'
(d) Intuitionist theory
Sidgwick has criticised psycho-

logical hedonism. The argument
given by him is known as

(a) Paradox of hedonism
(b) Ignorance of hedonism
(c) Dogmatism of hedonism
(d) None of the above

18

.49

According to  which of the
- following, ‘oral judgements are

"+ expressions of emotions?

50.

51.

52.

(a) Intuitionism
(b) Emotivism
(c) Prescripﬁviém
(d) Hedonism

With which: of the following Kant s
ethics can be compared?

(a) Upanisad
(b) Gita

(c) Vedinfa_ |
(d) Sﬁm,khyaVk |

Which of the following is not a step
inthe Eight-Fold Path of Buddha?

(a) Samyak Drsti

~ (b) Samyak Dar$an
" (c) Samyak Vak

(d) Samyak Samadhi

Which of the following is not a
proposition?

(a) (x)(Fx-Gx)DIﬁ
(b) (x)(Fx DG#)DHa ,
(c) @x)(Fx-Gx):

(d) @x)(Fx -~Gx)
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'5§3. Which of the following i¥"a

étion?

(a) HaDMa
(b) Hx > Msx.

(c) (3x)(Hx - Mx)

(d) (x)(Hx -~ Mx)

54.

SS.

/17

1. ADB/..

(b) Rule of transposmon

Which rule has been used in the
given formal proof of vahdity of the
argument?

~BDfA
2. ~'BD;~A‘

(a) Rule of implication

Vit o

(c) Rule of commu*tat»i@nzi-

(d) None of the above .

Frign '.;A

Duties prescribed mHindu ethics
for different stages of life of the
person are-called ... . ..

(a) Vafna—dharma
(b) Aérarﬁa—d}ianﬁhil o

(c) Varnﬁérama-dhgr_.ma ~

(d) None of the above

56.

The branch of Ethics whicH®is
concerned with the -analysis of
moral concepts and Judgements is
called R

(a) normative ecthics

(b) applied ethics

- (c) metaethics

B ’(d) Nonegi)f‘thé'ébove =

57.

58,

‘Sribhasya’ is a commentary on
Brahmasutra wnttcn by

(a) Sankara

(b) Ramanuja
(c) Ballabha

(d) None of them

Loglcal posmwsts try to ehmlnatc
metaphysics from the domain of

- philosophy - - because . all = meta--

physical utterances are
(a) false R

(b) meaningless
(c) obscure

(d), ambiguous

.

'59. Who of the following is the author

of the book, The Coricept of Mind?
(aJ Russell -

 (b) Locke

(c) Austin

(d) Ryle
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61.

62,

63.
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““Philosophy is a department ‘of
logic.”” Who holds this? .-

(a) Ayer

(b) Russell

(c) Moore
(d) None of them

Which one of tkhye_foll‘owingqis a set
of primary qualities according to -

Locl;e? '

{a) Colour, sound and extension
(b) Colour, selidity and motion
{c) Colour, sound and motion

(d) Extension,"Solidit}‘ and motion

ACCordiﬁg to Nyﬁya,‘ umvers e
(a) i'mPermarnen‘'t" o
(b) non-réal

(c) eternal

(d) both eternal an{i non-eternal

What do the VaiSesikas mean by

categories (Padarthas)?

(a) Modcs""c’)‘f‘p,redié:éiﬁgﬁ‘

(b) Modes of unders.t,a‘ridirig

{c) Dynamic stages of the

development of thought .

(d) Types of knowable objects or
of reals ~

22

64. Consider the following :

1. Pratijfia

2. Hetu-

3. Nigamana
4, Udaharana

5. Upanaya

What is the order of these
according to Nyaya syllogism?

(a) 4-5-3-2-1
(b} 5-2-4-1-3
(c) 5-4-2-3-1
(d) 1-2-4-5-3
65. Which system * accepted non-

apprehension (Anupalabdhi) as a
separate source of knowledge?

(a) Nyaya-vai$esika
(b) Buddhism
(c) Advaita Vedanta
(d) Carvaka
66. The abseriCe of a relation between

two things in the past, the present
and the future is known as

(a) Prégabhévé ,
(b) Pradhvamsabhava .
o) Atyantabhava

(d) Anyonyiabhava
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67. The ideas of Plato are”subsumed

68.
* philosophical view of Ramanuja?

69,

) Atmakhyati

117

under the highest idea, which is the

(a) idea of the God
(b) idea of the Good
(c) idea of the Soul

(d) idea of the World -

Which one of the following is the

(a) Pure monism + -

~(b)Non-dualism

(c) Qualified non-dualism

(d) Spiritualistic plaralism-

According to Nyaya phllosophy,
what is illusion?

" [b) Anyathakhyati

’( c) Akhyati

(d) Satkhyati

X

70.

7¥.

72.

‘What was Descartes in reference to
knowledge process?

(a) Empiricist

(b) Rationalist

(c) Critical

(d) Pragmatist

According to Carvika ‘philosophy,

which is the only source of
,knowledge‘7

(a) Pratyaksa

(b) Anumana o
(c) Sabda Pramana

(d) Upamana

Consider the following statements :

1. Smoking in many places has
been banned.

Smoking is 1nJuriou§ to health.

3. Itis wrong to smoke.

Smokers should be punished
hseverely

Wthh of the statements glven

above are statements of value?

~ (a) 1 and 3

“(b) 2'4nd'3

(c) 2 and 4
(d) 3 and 4
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73. Which of the following is/are

74.

included in the Triratna?

- 1. Asteya, Ahimsa, Satya

2. Samyak Dar§ana

3. Samyak Jiiana and Samyak

Caritra
4. Ahimsa, Muditﬁ, ‘Mait'ﬁ

Select the correct answer usmg thc

- code given below :

Code :

(a) 1
(b) 2 and 3
{c) 4
(d) 2 only

Who beheves that the concept of -
Free Will must mvolvc causality?

(a) Frec W111 advocate
(b) Fatahst ‘

(c) COmpatibil_iSt Pl

. (d} Determinist

75.

/17

Ahimsa is an ethical concept
central to '

. 1. Gandhian ethics

2. Jaina ethics
3. Buddhist ethics

Select the correct answer using the

code given below :

Code :

(a) 1 énd 2 only
(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2 and 3.

76. Ethics is the study of which aspect
~ of conduct?

(a) Is

(b) Ought to be
(c) Willbe
(d) Has been

77 Wthh Purusartha is acccpted by

Carvaka"
(a) Dharma, Artha and Kama

(b) Dharma, Kama and Moksa
(c) Artha and Kama
(d) - Kama and Moksa

78. If any premise of valid categorical

syllogism is negative, then

. (a) conclusion will be negative

(b) conclusion will be positive
(c) conclusion will be uncertain

(d) no conclusion will be drawn

oo e e i A A
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79, Followmg Venn dxagam shows

. (d) ABAinIVfigure -

80.

() None of he

81.

7

which hypothetlcal syllogmm"

N

S P

— M
(a) AAA in 1l figure
(b) AAA in I figure
(c) AAlin I figure

rlige

If both premises of any syllogism
are particulars, then what will be
the conclusion?

(a) Affirmative
(b) Negative
(c)..Particula'r,w :

above -

Who is ' “nedrer’ to ' Gita's
Karmayoga? -
(a) Kant

(b) Bradley

. (c) Bentham =

(d) IS Mill

How many Vows are observed in
Jainism?

(a) Five
(b) Four
(c) Eight
(d) Six

. 83. In the following, which one is hot

the concept of Buddha?

J(a) Atmavada .

(b) Pratityasamutpadavada

- (c) *Ksat.iavaﬂguravada

. (d) Anatmavida

84. In the following, which one is the

concept of causality according to
Buddha? ‘

(a) Asatkaryavada
(b) Satkaryavada
(c) Pratityasamutpadavada

(d) Vivartavada -

85 Platonic 1dea11sm is outcome of

Nous' given by
(a) AnaXagoras i

(b) Socrates R
(c) Democritus

(d) Heraclitus

86. In which phﬂoéoohy Xﬂairxtadaréana, ‘

Anantajiidana, Anantasukha and
Anantavirya is the nature of Soul?

(a) Buddha
(b) Jama

(c) Sat}kara
(d): Nyaya .

o}




79. Reiffen 3 s P Frenie 83. frfifen 3 3 B @ T& H
| wzmama%aamzﬁ%? I | ﬁmqﬁ%?‘ S ‘

S T\ (a) T
S 4 S (b)u?naagwraaﬁ
| AR (c) amiTER

L @
(@) 11 3T F AAA FATCHATE |
. (p) 1B AAAL ,_?4?%%“*?@%??&'@;1&.@@
.' (g IIISW@%ﬁAAI U Rk dr J
: (d) v M@ﬁlﬁAEA - | @ ;
480-«“1%%@%%#&%5:@ .(b)a?quaﬁ _
sy |, ?ﬁﬁﬁ#m;ﬁm? | © W ;

@ o ) m
(b) FEEE R |
© s 85. @R W YA A9 (Nous) ¥
@ sHeRINETE. o o PmmyRERREE

- {a) Vv .

1. ¥k & 3 i ;o s A7 ) o
(a) 12

‘ , (c) 3NFZEH
(b) S/ S .
(c) o R | (d) & ‘

(d)‘\“Wom 86. S

e

sy T
(© . (o) TR

C@w . @=m

<

-7 | 29 {P.T.0.




87.

88.

89.

90.
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“Who has called the Third Buddhist
‘Council?

(a) AsSoka

~ (b) AjataSatru

- {c) Nagasena

(d) Milinda

Vmayapltak and Suttapxtak were .

complled at

(a) Vaisali
(b) Rajgrha

(c) Pataliputra

(d) Sarnath

First Buddhist Councilwasheld at
(a) Pataliputra

(b) Rajgrha

. (c) Sarnath

(d) Vaisali

;Theary of 1llus1on Anyathakhyan

is due to

(a) Jianalaksana :
(b) Samanyalaksana . ..
(c) Yogaza

(d) Viparjaya

91. Accbfding to Sankara, Maya’s

locus as well as object is
(a) Brahman -

(b) T$wara |

(c) Atma

(d) None of the above

92. In Sankara’s philosophy, with

Avidya Jiva does not believe in
" which of the followmg"

(a) Jiva is same as Brahman

(b) lefercnce ~of Jiva and
‘Brahman

(c) Jiva is doer

(d) Jiva is enjoyér S

93. Which one if Barbara?
-(b) AAA

(c) EAO

(d) T0A

94. Spinoza tned to _solve; the problem

' of the nature of the world through:

(a) geometrical methodﬂi_
(b) arithmetical method
(c) | algebraical method.
(d) None of the_abmA/e '
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95,

Who' his whitten' the bk,
Fundamental Principles .of the
Metaphysics of Morals?

(a) J. S. Mill

(b) Hume

(c) Kant -

- (d) Bentham -

-96.
-~ Shyam.”

97

““‘Ram is honest; because he is alike

f e

. For the above inference, choose

the correct ‘fallacy . from the
following.

(a) As1ddha Hetvabhasa
(b) Badhita Hetvabhasa |
(c) Satpratipak.sa Hetyabhisa

(d) Savyabhicara Hetvabhisa

In the followmg, kwhxch one 1s not

" Hetvabhasa?:

(a) Vyabhicara HetQébﬁés‘a
(b) Savyabhicira ngvabhésa

(c) Viruddha Hetvabhasa

(d) Badhita Hetvabhsa =

LI

98.

‘Which oneis the correct inversion

of ‘A’ proposition?
(a) ‘A’ proposition
(b) ‘I’ proposition

{c)' ‘E’ prbposition

<. (d) ‘O’ proposition |

99.

100.

Which one of the ‘Hfollbwing is
practical .moral philosophy of
non-violence? T
(a) Non~violencé 6f Jaink'é)"ethics

(b) Non violence of Buddha ethics

(c) Non-vmlence

of Gandhlan
~ ethics :

(d) All of the above - -

“Every determination is négation”

is a statement of Spinoza to'

_descnbe e, e el

(a) God
(b) World
(c) Attributes |

(d) Modes

Fad
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